ALYV

HEO R0 I T B
b4 F M

(—10)* +8 = (—9)> — 8 =

30 + (_6) - 4—7=

(=5)+ (7= (—5)—9=

8—1= 82 —(—4) =

1> +3= (—5)2_7=

5 +6= =7 +7 =

(i (2)+(-5)=

(-5)" 4= 7 -2=

52 —(-10) = 82 + (—2) =

(—10)* — (-10) = 4042 =
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ot 44 A3 M
(—10)* +8 = (—992) (-9)° —8=173

3% +(=6) = (-5) 4-7=(-3)

(=5) +(=7) = (-12) (=5) =9 =(-14)

8§8—1=7 8 —(—4) =68

12+3=4 (=52 —7=18

5% +6=131 (—7)° +7=(-336)

7 -3=(2) (2)+(=5) = (-7)

(=5)° —4=(-129)
5% — (-10) = 35

(—10)* — (—-10) = 110

7’ —2 =341
8% +(-2) = 62

42 +2=3
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